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32T LOPH
2022
LOGIC AND PHILOSOPHY
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
Q. No. 1 carries 1 mark each 1x12 = 12
Q. No. 2 =13 carry 2 marks each 2x12 = 24
Q. No. 14 - 23 carry 4 marks each 4x10 = 40
Q. No. 24 - 27 carry 6 marks eaclt 6x4 = 24
Total = 100
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1.  Give very short answers : 1x12=12

oS 53 Teq i ¢
() What is the ideal of Logic ?
oy o e
(b) s the conclusion of Analogy certain ?
APEE Pra fkee zam e
(c) Give an example of Unscientific Induction.
Stasiae aenee oft Swrgael fm |
(d) On which Law is the Quantitative mark of a cause based ?

(e)

(N

(g)

(h)

(i)

()
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FRF AT T B FEse eoge e

What was the hypothesis with the help of which the ‘Law of
Gravitation” discovered ?

& o5 oER ATe Ny e Fa's oifwe 39 @

What is the meaning of the Greek word ‘Ethos’ ?
1% = ‘Ethos'q &gl 2

What, according to Indian Philosophy, is the Supreme and Ultimate
end of human life ?

SIS W S W GRWE 5 &E 3 e {5

Write the name of the Inductive Method which enables us to proceed

“from cause to effect and effect to cause.

PR 2[ I SN T #49 FRE o7 =9 w1 o= smforsa wrs |

Give an example of Secondary Quality.
(N @ afe Sarae |

Is Ethics a positive science ?

Tifefm Raafw feam zaea 2
[2]



(k)  Who has defined religion in terms of value ?

Teia e o ofe k@l @i freze

()  Which theory of Truth does Naive Realism support ?
Fee] IATAET HOTOR (FINH! TS AN I 2

2. Give an example of Good Analogy. 2
SR @61 Swizel fral |
3.  What is ‘Hypothesis concerning Agent’ ? 2

‘o Taue dow S @IE?

4. Give an example of ‘Plurality of causes’. 2

T FRERW'I 451 Svrzael |

Or / A
What do you mean by ‘Conjunction of causes’ ? 2
PRA FIF el 3@
5. Explain the moral condition of observation. 2
R (AT HOL! Al
Or/ a3t
State two advantages of simple observation. 2

e R 7o Rd T 1A

6. Give a concrete example of the Joint Method of Agreement and Difference.
2

iy o AfoEE) TR @i A% Swigad |

7. Mention any two characteristics of Scientific Realism. 2

aEifie Aweama R gor ame e
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10.

11.

12

13.

What do you mean by ‘moral obligation’ ?

‘tfes ey’ I & goe
Or/ 923

What is voluntary action ?

&tz fora s @i e

Give a concrete example of Inverse variation.

ReSTeadl Teeifiadas bl ar%a Swrse |

Why is the idealism of Leibnitz called ‘Pluralistic Idealism” ?

#A2AFRT SRAME Y ‘T2 SIRAM (@IE 51 2
Or/ 23t

‘Esse Est Percipi” — What is the meaning of this statement ?

‘Tfeg AorF o1’ — 9% FATRT 9 &F?

State two characteristics of Primary Quality.

R @eq 707 (g |

What is “Working Hypothesis’ ?
‘TR g e
Or/ 723!

What do you mean by ‘Vera Cause’ ?

“afeg T TR IR B g

Why is habitual action considered as an object of moral judgement ?

srefTEe fFa mies SRy [aaae 3 g o w1 =2
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14.

15

16.

17.

Or/"@?T

What is the meaning of ‘intention” in Ethics ? 2

Tfekwe wfeems o 62

What is induction ? State fwo differences between deduction and

induction. 2+2=4
SioIS T ICE 2 ol S el e 76! Al Toamd 4 |

Or/ 23!
Write any four characteristics of Unscientific Induction. , 4

SRR S Rl bR (e
State the advantages of Experiment. 4
AFreg ARY T2 TrEd 4|

Or/ wZdl

What, according to Aristotle, are the different kinds of cause ? — Discuss
briefly. 4

GRE5ER WS IR g (@301 & e — BAE el 9

Write any four characteristics of Naive Realism. 4

e ATAVE [ bifkG! (e o

Explain briefly the nature of ‘Monad’ as depicted by Leibnitz. 4
FiEaaE 90 SR T agfe B AR |

Or/ [
What is the essence of Berkeley’s Subjective Idealism ? 4
Qe SIS RAME I P9 {5 .
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18.

19.

20.

21.

Write a brief note on non-moral action. 4

G-(Af%% (T evwe 951 53 Gl B

What is ‘Crucial instance’ ? Give an example of crucial instance obtained
by experiment. 2+2=4

b YOI &2 o Fiweieia baw TRIT 9Bl Swizae |

Write any four definitions of Religion. 4
«fe Rcprer sIRG! weet @

Or/ %4t
Write four characteristics of Religion. 4
R BIRGI RE fe
What is ‘Practical imperfection” of the Method of Agreement ? 4
SE] 2eleTR ‘IR Teefer e

Or/ w231
Mention fwo advantages and two disadvantages of the Method of
Difference. 2+2=4

UferaS! et 751 FRat =i 7hf SpjRd S w4 |

‘Idealism is best expressed in Hegel’s Objective Idealism.’ — Explain
briefly. 4

‘RO OIS SIRAMA WMCET ©RAME A e 1w’ — 5t i 4 |

Distinguish between religion and morality. !
il Wi (AfeFeR AeR Ao fefa w4

Or/ 7IZat
‘Morality is the source of religion’ — Discuss the view. 4

‘TfeTeiR fs T’ — a3 ToB! HIEADA 41 |
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24.

26.

27,

What is Scientific Induction? Mention the characteristics of Scientific

Induction. 2+4=6
FERE S T @E e [@Elfe S (@e TR S 1|

Or/ 7241
Define Analogy with an example. Mention its characteristics. 3+3=6

<51 TrEEe T2 AARE FeE | @2 Re S e A S 9

Write a note on ‘Paradox of Induction’. 6
‘SeieE Ko’ eoFe @it Gre |

Or/ M2
What do you mean by Experiment ? Describe its characteristics.

1+5=6

o @1 3fercal & qe 2 ARTweR (@AE) TR S 4l
What are the stages of Hypothesis ? — Explain with examples. 6
sfowd B4 (320! & o2 Taread 7z 0T 340

Or/ 7241
What are the conditions of a legitimate or valid hypothesis ? Explain any
two of them. 2+4=6

a2 5% g 7 fee (au ond R 76 56 0 34

Define the Method of Agreement with concrete examples. State two
advantages of this method. 2+2+2=6

2% SRR TS SEAl SR e | @R =T 7o iR S
Or/ 723l

Define the Method of Residues with examples. State fwo disadvantages of
this method. 2+2+2=6

Tz 7E SARTTE eela el fEl | @R QR 70 Sepike Sred

®
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